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The economist who produced the Law of Diminishing Marginal utility is
E&'aro8 (H@rus Rzodind (HEFBoNES

Options :

Adam Smith

OEE
1. % =
Alfred Marshall
w26 é:viﬁcﬁ
2.¥
David Ricardo
Gk amsg‘
3. %
J.M. Keynes
3.0h&. 55‘3
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If two goods. 1 and j are close substitutes then the price cross elasticity (ep) will be

Both S 1 HBchn j S Bemciren aps wdodd 5580 (ep) (Bod

D&orr BotHo.
Options :
Zero
&850
1. %
Less then one

258 %ol éﬁ;&a’)
2. %



Equal to one

2588 (5o

Infinity
edHossn
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The demand curve become the MR curve of the monopolist in
335%“023‘33;&53&) &srof By (Bod m&8° MR Barr 5o,
Options :
Third Degree Price Discrimination

Soets S 3;03:: $E HiS¥e

1. %
Second Degree Price Discrimination
BodS aron 58 D%
@ =
2. %
First Degree Price Discrimination
- D088 Tron 88 D5,
3. @ o
Bilateral monopoly
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In indifference curve analysis. the consumer attains equilibrium at a point where
I. The budget line cuts the indifference curve
II. Slope of the budget line = slope of the indifference curve
IIT. MRSxy=Px/Py IV. MRSxy=1

ambsE SE8p DFRS® AERRTE DT e ros Do

| smdss SEdpi m%ég B Podohe
1. mgﬁ Bparen = amradd HE Spare

. MRSxy=Px/Py IV. MRSxy=1
Options :
[and IV

I SoBcdm IV

1T and 11T
11 58c%0 111

L. IT and TII

L T $5%8a%m 1T
3.9

ILITand IV
. I I 508am IV

Question Number : 5 Question Id : 5471144505 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Income effect is negative in the case of
Bod & Shde DHchos® emrch ([Herdsn wvdfor Sotnod?
Options :
Normal goods

T SHen

1. %



Superior goods

ShendEo Snspen
2. %

Giffen goods

TR8E0 Dnsden
3.

Public goods

(e Sayen
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Which one of the following determines the shape of a consumer's indifference curve?
DTN awrdd HEDp oo E'»ngaofj& O8?
Options :
Price ratio

55 )8

Marginal utility
Bar08 (Hdredo

Marginal rate of transformation
asrod Srarosld B

Marginal rate of substitution

arod (HS ZHS Bew

Question Number : 7 Question Id : 5471144507 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Social Welfare function considers which of the following?
FroinX ‘éoﬁa‘o Poo Bod TES 300 B8RS EE dbotnod?
Options :
Cardinal preferences

Tgéé’? ©fShen

1. %
Ordinal preferences
e85 @f)hhen

2 ©
Revealed preferences
(HELHS hBhen

3. %

None of these
5=t
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If tax imposed on a commodity for which the demand is perfectly elastic and supply

is inelastic. then the entire burden of tax will be borne by
378 =85S B0l eaES $HdD OA% $nD B B8y HHoVLHPD, Fwdo Hi%y
B0 §BoHRs

Options :

Seller only
- ©EomBtd ool 85
Buyer only
BP0 enmrdoth S|

2. &%



Both the seller and buyer equally

@a’)aéuomﬂéﬁaeﬁa, EfPen ot HEmSore

None of these
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The concept of Micro Economics and Macro Economics were propounded by
) 0B T, Hre of T Tt (H8TBoN8H
Options :
Adam Smith
eSS
J.S. Mill
B.0H%2.wd

Ragner Frisch

&S

3. SR
I.B. Say
2.9
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Income elasticity of demand can be expressed by the following equation
Elalow ?55555; ESmotidh & (Bod 3doddnsn oo DBBoUH

Options :



change in Income

change in Quantity demanded
eszeaidoes’ LGN
G708 HBBeId” Dty

1. %

% change in Quantity demanded

% change Income

AA5r0b DA A8y o
esorooes’ B8Oy TS0

% change in price

% change in Income
&8 HrddyTeeho
350" Sty TS0

3. %

change in price

change in quantity demanded
85" Dot
Ear0& DBBrEad” Sueddy

4. %
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If marginal utility 1s zero. the total utility will be

earod ([HErradsn SrdrsorroR)pi, Sngsn (@Bdredsin & Eod dEsrrtio.

Options :
Low
ét‘o&éw
Maximum

2.9



Zero

L0
3. %
Negative
(H&Eresore
4. %
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The economist Alfred Marshall is associated with the following concept

ed| & é:né;ﬁ ey @gﬁﬁé & (BoB D 7558 wdonodo DA ST

Options :
Ordinal utility
©B¥S (BTeesdsin
1. %

Indifference curves

amTdd HE3pen

2. %
Revealed preference
LSS (@i

3. %

Cardinal utility
=BRS (DTrasdsin
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If the rise in income is proportionate to the increase in the quantity demanded. 1t 1s

ercHos® BB S Aoed DHHBEDH oHdEsHmr L) ke

Options :



High income elasticity of demand

0O eedd a;-ﬁazﬁég; &aeoth

Low-incomne elasticity of demand

o) STEal a'gﬁ's{ﬁéé &¥roth

Unitary income elasticity of demand

Svéfge:ﬁ ST=e%H agﬁsiié; &smoth

Negative income elasticity of demand

|D8Ere weddh a:;&'aiﬁéé fatbilela®
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If the values of a variable are distinct, i.e., they are separated by finite distances, then
the variable 1s called as

2.5 HeroXsm &mﬁ‘,} Denden DPHorr odrr o HB&E Srove oroe DEBCHDEST,

oHPD @ Serosel) ser Leodd.
Options :
Discrete variable
‘ DO SeroXsm
1.
Dependent variable

ordd SeroXdm

Independent variable

rSo(@ Horosin



Continuous variable
DB0esy HeroXsn
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Which of the following assumption are not necessary for pure competition?

Sehidos SFEL 1Bod (Pabaired® DD e5dbo B8&?

A. Perfect knowledge B. Product homogeneity
C. Perfect mobility of factors of production D. free entry and exit of firms
A 2BFY oo B &&)8 Serbohd

C 888 stsre G0 R}'o?’@ﬂg K% ded

D doige Ry H83% (HR¥o S8 JyHe

Options :

Aand B
BandC

Band D

Aand D
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Arrange the following economists in the sequential order according to their year of
birth.
Bob @gt.-‘ S8 =8 DY JoBE)Bo w[IBoY) [E :]Oﬂ]ééﬂ SPOtHDB oK.

A. Malthus B. Ricardo C. Mairx D. Marshall
A. SPeD B. 8==8° C. 55) 3 D. 5788
& G & )

Options :

 CABD
1. ¢

B.A.C.D
AB.0.D

B.C.A.D

4. &%
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For an investment project to be profitable, its return must be

2.8 Pod (Y orFrchESomr Sohed o Fwl) (Hedoren < (Eod dFore
BoiSB8.

Options :
lower than its cost
B% Srahsmn Yol $5ns
1. % [5] o [
higher than its cost

DB Hohdm Y08 DS
5 W g o g



equal to its cost

@vﬁ’% S0 Heedsio
3. %
None of these
D=

4. %
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Arrange the following markets in ascending order of sellers

(Bod S8t @afoééo e} oy sdorr @6’55’?59@5&30@'5 08y,

(I) Monopolistic competition (IT) Duopoly
(III) Monopoly (IV)Oligopoly
(I) DERgo; £°E (I1) &R ossin
(III) DED=ssiogsion (IV) 58808 Jecogsin
Options :
I I T IV
1. %
I I AY I
2. %
5 IV I II I
II 1 IV I
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Which of the following activities are observed in the second stage of law of variable
proportions?

58 oddrore Srdo Bots 8¥° 1Bod =8S° & sEoraro Kidoiito

ahEod?

I. The MP L is positive and it increases
IT. The MP L is positive but it decreases
III. The TP L falls and reaches to zero at the end

IV. The TP L increases and reaches to maximum at the end
I. MPL qﬁa‘ééﬁorw 08, DHMNH&E0d.

II. MP L Eﬁmé&ﬁom sod, é?ﬁgoﬁm&.

III. TP L 8p, 9586° Soamh B oinod
IV. TP L 28A O586° 585 Fond B Eotn0d.

Options :

[and II

[ S08c% 11
1. %

IT and I1I

IT 50850 1T
2. %

I and III

I 508csn 111
3. %

IT and TV

11 5o8cse IV
4.
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Assertion (A) : When a fixed factor 1s combined with increasing units of a variable
factor, the law of diminishing returns will operate after some point.

Reason (R): The factors are perfect substitutes for each other.

D88 (A) 2% B8 g EoR) EIOHKY $BErod” S8
DEDRYPD 2.8 From Sdoard L (P8Doren Do,

HH (R): o s8zmen D880 Be=gsmcdhore eoéromn.
Options :
Both (A) and (R) are false

B8FSS (A), 8% =Y (R)Bokr eodssn

(A) 1s true but (R) 1s false
Baarss (A). =550 =D HY (R) oz=dssn

2. %
(R) 1s true but (A) is false
&9 (R), 78850 =8 [H8a55 (A) oadssm

3. %
Both (A) and (R) are true and (R) 1s the correct explanation for (A)
(BarSS (A), Hdck &P (R)Bodr o858 (R) 5805 (A) TS
(PSFBEL JBTS DHSBes

4.9
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Assertion (A): A firm under monopolistic competition faces downward sloping
demand curve.

Reason (R): The brand loyalty of the consumers provides monopoly power to the
firm.

Baarss (A):

55&@3’)}5@ oé é:vaééﬁiﬂ} éog |BoBE sren XORS &drol. Sed DT )0EN0B.
HH (R):

(=N =

DOGeriErdoen o8 ([rothD LFcHE LOR dodto Jof & oy xRy ¥8R ¥OA

©0e008.
Options :
Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(B8TFSS (A) H8ch TrHH (R) $B8GHS =0 &P (R) H8a+8555 (A)

QBTN DHV ==
1L

Both (A) and (R) are true and (R) is the correct explanation of (A)
(B8ZFBE (A) H8k rHP (R) S8G0ED Bk Tr&HH (R) (H8F855D (A)

$BGS DS,

(A) 1s true but (R) is false
858 (A) 55w == e (R) argddn o=

(A) 1s false but (R) is true
(B8SFBE (A) o855 ==tH =0 T=HH (R) =853
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When short-run average cost is equal to Marginal Cost, arrange the following costs in
descending order.
Srey So0E difen Hoho adrod Srabini JSErdsorr aHBp (Eod Sohine o
55 (X00s® Brothdothsim.

I) Average Fixed Cost (AFC)

IT) Average Cost (AC)

IIT) Average Variable Cost (AVC)

I) Sfew %}5 Sraho (AFC)

IT) Srién oo (AC)

III) Srfen 58 Sgao (AVC)

Options :

P TR 3
1L.v

L IL 101

2. %

II. I III

3. &

L1 ) 1}

4. %
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Match List -I with List-II
2 SQE-1 0 H&E- 11 & wssdydn

List-I List-II
A) Pure Oligopoly I) New firms are free to enter
B) Open Oligopoly IT) Absence of Price leadership
C)Non-Collusive Oligopoly ITT) Homogeneous Products
D) Full Oligopoly ['V) Non-Understanding among firms
X -1 H&¥ -1
(%] %]
A) 58 HBE Fmoro I) 58 Sogen e (B80S
o W o 4T = i oJ
B) 23r8oil £58&0& Jmiiro II) &8 mrahiso Bothe
C) 5803 TR HBE J=maioro III) Serfich ad)dhen
D) Soieg 58808 Isigo V) Soge gy wirrd S

Options :
I-C. II-B. III-A. IV-D

1. %

v I-C. II-A. III-D, IV-B
I-D. II-C, III-B. IV-A

I-D. II-B. III-A, IV-C

4. &
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‘Which one of given responses is appropriate to the statement?
"Average product is at its maximum at the beginning of this stage marginal product is
zero at the end of this stage™?

Bod SSrprrred® & (HEeH Sonodod) KBS DB,

D00 T BB0 FGoZ 9IS (OO, & 33 DI0S” o &B\E T BPHSBS”

Options :



First stage of production

T 5% bEG

1. %
Second stage of production
Bois &% a8 g

2.
Third stage of production
ordsl 8€ a8 a8

3. %
No such stage of production exists
oo add &€ aolitd

4. %
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A system of describing the joint dependence of variables is called a system of
Serosre B 856G SomQ) HHBOD Sy S e DHenFd.
Options :
Linear equations

$8E H&nESereen

Simultaneous equations

5% = 20%Seren

Quadratic equations

5’35;? B80S ca=en

Cubic equations

55155}5 DEBeTeen
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Given the demand curve of a monopolist P = 100 2x and cost function C = 50+40 x.
The equilibrium level of his output (X) is

DESrmdod ot By P =100 - 2x $8ckn &oh (Habadho C =50 + 40X.
080 5T a8 g (X) ﬁg{}n
Options :

10

1. %

-2
R

2>
N
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‘We can establish the identification of a relationship among variables in the equation
based on the

(1) Order condition only

(2) Rank condition only

3) Neither order condition nor rank condition

(4) Order condition and rank condition
D& B errdHd $8EB80os D Sorosre S0ty e Sowmod Howp %{;ﬁ’;}%m.

(1) E DoBs Sm(Bh

(2) %@ QooEd S|

(3) [Eo Ddoodee =oth B°® dnosme oot
(4) B d0osH 508w E°® Qmosd

Options :



Order condition only

(B Dood® S|

Rank condition only

550 Doosd S

Neither order condition nor rank condition

B Qoiae oot =58 ooz =%

Order condition and rank condition

(Eo Doogd Sobckn 5% Qwolss
4.9
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Marginal conditions of Pareto optimality holds good under

288 wferidad aarod $6R&e (Eod TES* 8L H8mron?

a) Perfect competition b) Monopoly

¢) Monopolistic competition d) Oligopoly

a) 5658 S b) DEJ=ogo

T
[V ]

C) DEso; &8 d) H6LSF g0

Options :

a only

a S

1.

aandc

a 8a C



aand d

a so8adm d
3. %

b.candd

b. c S8cim d
4. %
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Capital Market provides
Sorei® 78l € Jomogod (Eob FEE® K6 wondd Dod?
Options :
Long-term credit
B8ore HEHS HSorsne
ol )
1.¢
Short term credit

é&@u} e 85 éaﬁ:ﬁ:veﬁa;]éa

2. %
Long-term credit and Short term credit
B8sre HEDE SHLrEnb DU Fy) o BEHS JMErEHE
3. %
None of these
=S
4. %

Question Number : 30 Question Id : 5471144530 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are the assumptions of the Neo-Chamberlin model?

Bod 068 Q@BrearondS Sdrars Howofod (Habdiren DI?

I. Fixed labour supply

II. Declining average labour requirement
IIL. Free entry and free exif of firms

IV. Vertical product differentiation

L 20 (@ 3630°

IL. Seo Qe w38;5E

01 Soen Rar) SEDS (B34, Jghsoes
IV. voo 57 30650
Options :

I, IT and IIT
I I 55805 1T

II 1T and IV

I, III &o8cie IV
2.¢

[ and IT
[ 308c5% 11

II and ITI
11 $08cs%» II1
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The logical starting point of Keynes theory is

) dezodo Gw¥) =8 (&80 5(;360



Options :
Principle

oe($0

Acceleration principle

&r8eao (o
(=%

Super multiplier

508 theeZo

Effective demand

(BersSosS Sirol
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The super multiplier 1s expressed by the formula
5258 Hora¥od (808 Jr@o B8 SESHTL.
Options :

1/1-MPC
1.¢

1/1-MPI

2. %

1/1-MPC-MPI

3. %

1/1+MPC+MPIL
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According to Keynes, the demand for money depends on
45) Boedsm By SSroth & (Bod TR errdHG Bot.

I. Transaction motive I1. Precautionary motive
III. Speculative motive I'V. Risk and uncertainty

L orrade agdin IL &mod w{i{de agden

1L woire agdsm IV. §3 goho Hbukn oS
Options :
LI and IV
I II o8¢ IV

II, IIT and IV
1L, IIT o8céw IV

I, IT and III
I, II $508cim III

IV.IIT and I
IV, ITT $o8c5m 1
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Pump priming during depression aims

Sody $Hahos® o5 (2800l 1Bod TR0 oo epdosd.
] =g (5]

I) Stmulating private investment
II) Increasing public investment
IIT) Supplementing private investment

) (P& dipadeos age $8H0s
II) @558 Depatho Dohdod

III) (e eépmthess eddorrto B0
Options :
I and IT are correct

I 08¢k IT 988D

l. %

II and III are correct

IT So8afm I H8508d

I. IT and III are correct

L. II s8¢k IIT $8&Eosd

I only correct

I 5|85 HBGHE
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Arrange the consumption functions in sequential order.

208 DADFN Horo (B DS omdysmn

[)Relative Income hypothesis IT) Life cycle hypothesis
[1T) Absolute income hypothesis TV) Permanent Income hypothesis
I) 2% eorah DB II) £08 SE LB8Zen
I1T) ?I}éfoé_ orad H0¥end IV) &8 erad 5058
Options :
L IL OL IV
1. %
oL I, L IV
2. %
CHOLLIV.I
3.¢
IV IIL 3L 3
4. %
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Asserfion (A) : According to Keynes, the monetary policy becomes ineffective either
in raising the level of income or in lowering the rate of iterest.
Reason (R): Aggregate demand function cannot be raised through monetary

variations, according to Keynes.
BaES (A) 1 8]) Ec-8in Grred Fore BoBKoTHH Hb®
56 Sig> SNotwod® (B Do HOFPIS .

S5 (R): 55‘3 (==t (3 srde ooe S Aol Peodin DodwEs.

Options :



Both (A) and (R) are correct. but (R) is not the correct explanation for (A)

(BaFFSES (A) 0Bk rHD (R) otk HBGED =R 7HY (R) Haarss (A)

£ JBIY DSV =K.
1L

Both (A) and (R) are correct and (R) 1s the correct explanation for (A)
(B8FES (A) 8k TrHH (R) Both HBDHD HHbckn HD (R)
(BEFES (A) D BG% D50,

(A) is correct. but (R) is not correct

(A) $BG0%d b (R) $0D¥6 -

(A) 1s not correct, but (R) 1s correct

(A) $8G%d oo, ==R. (R) 9856
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Arrange the following theories of demand for money in the chronological order.

£ob (555 &0l drFoso Tro H Enos® edydn

1. Cash transactions approach 1. Liquidity preferences approach
III. Cash balances approach IV. Wealth-holding approach
1. 8% o= 3do Doedo IL. (&8 0 duedo
III. 885% Qexre Dorrdsm IV. 3058 Qere DoeHsw
Options :
IDNOIIV
1. %
IOIITIV



T IVIH 1

IIIIMIIV
4.

Question Number : 38 Question Id : 5471144538 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The statement that "An economy will always be at full emplovment level' was given
by

I. Keynes II. Post Keynesian Economists

IT1. Classical Economists IV. Modern Economists

OB HED JBper VoFEE NS & sotroisd BB,

i ?1_-.50} IT. 55{3 Rfevutt @gﬁ S&en
II1. BoFerah B S8en IV. wtpdE of¥ Sden
Options :
[and IT

I 508cim 11

-

IT and TIT
IT &8c5m 11T

NI and IV
III S08csm IV

3. %

1T only
I S0l

4.9

Question Number : 39 Question Id : 5471144539 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given the different types of income;

a) Disposable Income b) National Income

¢) Personal Income d) Private Income

Which one of the following sequences is correct if they are arranged in the
descending order of their magnitude?

od £°)) S wmrdiren asnbaron.

a) $oiry etedio b) arfich ewedho
C) 53&K8 errabo d) @3¢5 soeoho

% eordiro os8irn [Edost 'ﬁ:ﬁ’“&ém Bod &S 286 Qa0 ©HHod?
Options :

b.d. a.c

1. %

- b.d.c.a

d.b.c.a

3. %

d bua. e

Question Number : 40 Question Id : 5471144540 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who explained the synthesis between IS and LM model to explain the General
Equilibrium?
IS, LM & Sog $5b®chsn oo S5l 3eoBPesing 8358008 =8
Options :
Pigou and Pareto

5 SoBCS%0 BT

1. %



Malthus and Sen
aﬁ:v%ﬁ H0Bc DS

Hansen and Hicks

SF5)S S8k 2rE

Ackely and Samuelson

g Hbaw %éx&@g%

Question Number : 41 Question Id : 5471144541 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following an 'Accelerator’ shows?
Bod =&S° BV NS Bwo Sros?
Options :
The effect of investment on Consumption

OG0 épnl (Heedo

-

1. %
The effect of change in investiment on consumption
DAGROP DePmEE® JS el [Hgro

2. %

The effect of change in consumption on investment
éPoEP DATrKE® SYS k)
3.9
None of these
D =%
4. %

Question Number : 42 Question Id : 5471144542 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Functions of money can be classified into two heads (1) static (2) dynamic. This
classification was given by
I. Keynes II. Paul Einzig

III. Friedman IV. Patinkin
(555 Qe (1) 8, (2) Sl o Botbore $E88H TR oB¥ 2.

L 85 I1. &6 do=R

III. foses IV, 8085
Options :

I only

1T only

[, IT and TIT

L II, IIT and IV

4. &

Question Number : 43 Question Id : 5471144543 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The calculation of National Income at market prices is called

@vﬁa_eﬁ Bée &8 =& omdird) 8ol BOLFE.

Options :
NOI]-]HDIIETEHY income
@Sﬁﬁgéé Ciaglovhlel

l. %

Money income

L1 eordiho
2.9



Real income

TP eordho

None of these

D=

Question Number : 44 Question Id : 5471144544 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a method to calculate Gross Domestic Product?

Bod =&S° D& o 3807580 BSRE o8 S8 5?

Options :
Diminishing cost method

Ea%) Spob w58

1.V
Expenditure method
Jecdh DS
o Q
2. %
Product method
Beha H8S
[« ] q_,
3. %
None of these
=%
4. %

Question Number : 45 Question Id : 5471144545 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which organisation calculates the Gross Domestic Product for India?

T88 B Sro AT BR D Dod BE?

g Te=TTr

Options :



Central Statistics Office (CSO)

Zol Kok sroedho (CSO)
1.V

Department of Economic Affairs (DEA)

@agi‘f FSFore arifo (DEA)

National Sample Survey Office (NSSO)
BSh BT ma"; srogecho (NSSO

None of these

D=t

Question Number : 46 Question Id : 5471144546 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The economist who advocated under employment equilibrium is
o0) a8’ hee SHT e FHE (DS80S o8 =

Options :
J. B. Say

AR

A. C. Pigou

a). 2. ik
2. %
Adam Smith
STt
3. % =
J. M. Keynes
3.6h5. 35‘3



Question Number : 47 Question Id : 5471144547 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The curve showing Marginal Efficiency of capital (M E C )
Soredsd darods %&% ?-‘ocgoééw oo B
Options :
Slopes upwards

28 (D choot

1. %
Slopes downwards
Bobd (@ cmothd
2.¥
Is horizontal to x-axis
X-Endd Jiroddiorr aothi
3. %
Is vertical line parallel to v — axis
Y - @Fndd Jsroddsorr aoth
4. %

Question Number : 48 Question Id : 5471144548 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tariffs cannot improve the terms of trade of the tariff improve country when the
elasticity of the offer curve of the foreign country
934 wohiz8 J\Xow EEESQ.‘SP‘_‘S;O & DPorr aR)0pid, Dosten DBOT BE SBE oo,
posren X HBSD.

Options :

Zero



Perfectly elastic

S p:E w
n}oag}vg o8 t‘,ie_sﬁo

Perfectly inelastic

‘éofqvg @a:dm%'sfﬁé;c

Equal to unity

XEE BErdorre

Question Number : 49 Question Id : 5471144549 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book *Competition Among the Few™ was written by

ob@nS osroh 8 O o (tfomel) $DodS =E?

Options :
P. Sweezy
2. 508
ot
1. %

R. L. Hall and C.I. Hitch
©6.25.5FS 08w 0. 5rn.

2. %
W. Fellner
&Sz b

3.
R. A. Gordon
@5.@.55%5

4. %

Question Number : 50 Question Id : 5471144550 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to classical economic theory, changes in the money supply do not
influence

FrolDeea® @gﬁ %msoéa’m D850 (B8 Srdpen S (Eod 0P (Do HobHE®

LOA% Jredoredy.
Options :
Nominal variable

Ty PeroXsmen

Money variable

(855% Serosoen

Real variable

TR Sero¥iinen

None of these

4. % DD

Question Number : 51 Question Id : 5471144551 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

International trade and domestic trade differ because of:
@oéc:;@:ﬁa EPL%EBEP Sobcin Bdch ma%&;o D& =8wmorr DI orre dotrom.
Options :
Different government policies

AL L‘_a”x%ﬂ:éﬁ; Doreen

Immobility of factors

S wndes
(o]



Trade restrictions

EPE%&E 2H880Hen

All of the options are correct

o) ¥B%9

Question Number : 52 Question Id : 5471144552 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Government policy about exports and imports is called
Qv Sodaiy Srbudoe Hdod) DS Z)qsna“ﬁl 20087

Options :
Commercial policy
a‘c%a% Do

1.V

Fiscal policy

o oo

2. %
Monetary policy
(85 deeRo

3. %
Fiance policy
@sgﬁ Do

4. %

Question Number : 53 Question Id : 5471144553 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is international trade?

Bod T&S° wodrdad oduo 267

Options :



Trade between countries
dore ey ?5%&&;0

1.V
Trade between regions

[Erosre Sy ardago

Trade between provinces

(@080 gy Tedeyo

Both Trade between regions and Trade between provinces

[Erozre g ardego Sobak (@K S ardeyo

Question Number : 54 Question Id : 5471144554 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

When aggregate economic activity is declining, the economy is said to be in
~4 = Ty Vgt v £_ i 4 o R %
S8 @g._. = b’ﬂu@&w 238Dy, @g._. Eﬁaa'n%} R BoesdEno.

Options :

A Contraction

- %osf%o
1. ¢
An Expansion
EARSTotac)
2. %
A Trough
D880
3. %

A Turning Point.

soensd



Question Number : 55 Question Id : 5471144555 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Industries that are extremely sensitive to the business cycle are the
@Eﬁ aﬁ;é}gé‘s 0% @5555%990 c%]c;ca}@a S H8Ho=St & o88rom.
Options :
Durable Goods and Service Sectors.

SR SoHen B Ddew

1. &

Nondurable Goods and Service Sectors.

SQNBOR SHen HbAH Dden

Capital Goods and Nondurable Goods Sectors.
SreEH SPen B DY BY ShHen

Capital Goods and Durable Goods Sectors
SoreEd Syer bk HRZE SHpen

Question Number : 56 Question Id : 5471144556 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High inflation levels in the economy leads to in the supply of money.

@gﬁ ééééﬁs o] @5555%590 %Sm}w o) HBHoE’ 2 mﬂé%_:cm

Options :
Increase
=)
1.¢
Decrease

égo@



No change

S8y T

3. %
None of these
=D

4. %

Question Number : 57 Question Id : 5471144557 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct combination of assumptions of monetary approach to balance of
payments.

I. Unstable money demand function

IL. Inflexible prices

III. Markets operating perfectly.

IV. Full-employment

V. Purchasing power parity

BPoHe ko (B8 o= (Hhdire B Loondss HiosHEw.
I. Qe 89 (553 &srothen

I1. $8¢&-5m B Fden

HE ‘K}o‘f.gsﬂgorw 3’)555?‘”.3‘505 S8R

IV. Soirg & ns

V. E5ifer 48 $8r885m
Options :
I, IT and III
I I $o80%o III



II. IIT and IV
I1. III s08c% IV

I. 1T and IV
I 1T 5085 IV

IIL IV and V
IIL IV s%8c%m V

Question Number : 58 Question Id : 5471144558 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following World Bank Group institutions in the chronological order of
their establishment:

I IDA II. IBRD

III. MIGA IV.IFC

Bobd [HHoS arged Ronew & 55.‘{326 errdorr srolEHos® o).

1. IDA II. IBRD
III. MIGA IV IFC

Options :
LII IV, IIT
1. %

I, I IIL, IV

IV, 1L OI 1
LI L T
v

Question Number : 59 Question Id : 5471144559 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arrange the following demand for money approaches in chronological order:
I. Tobin's approach IT. Milton Friedman's approach
[II. Baumol's approach ~ IV. Gurley and Shaw approach

S BIOHS B (=23 &E5r0tHE Domobodd VY Fited solEdrd P85
508 w.
. 205 éejﬁn}qiéao 1. 5)03,35 {%}5&53 c@ﬁn}qiém

. Fre @é@)&éé}: IV. 158 SoBoso & c@ﬁajeés’m
Options :

LIV

1. #

L LIV, 1T
v
ILII L IV

IV, IL I, I

Question Number : 60 Question Id : 5471144560 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High inflation levels in the economy leads to in the supply of money.
@gﬁ é&é‘gé‘s Date! @5585%&30 p:.gm:\m &5 J8Hoes® 2 o8 &:%0d.
Options :
Increase

| 2rhibos
1LY

Decrease

S0t

2. %



No change

é’:l]“iﬂaoj S05D
3. %
None of these
=3
4. %

Question Number : 61 Question Id : 5471144561 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who compared inflation with robbers?
BTl 08 Eores® DKL J55?
Options :

Amartya Sen

o DS
1. %
Professor Brahmanand and Wakeel
@6 (@908 Db $&S
2.9
Professor Jagdish Bhagwati
[EP08 aidR ginsa
3. %
Professor Key
B8 &
4. %

Question Number : 62 Question Id : 5471144562 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following concepts is the opposite of inflation?
Bod rE%es® 28 (BFe)mdE $;88507?

Options :



Deflation

(s5€3 @Sssaew\.eao

1Lv
Stagflation
S

2. %
Recession
aﬂjﬁoaﬁéo

3. %
None of these
DO =5

4. %

Question Number : 63 Question Id : 5471144563 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The item with the maximum weightage in the Wholesale Price Index is
o i o o
T K80 SrdHXEt 588 @rorisd ef) vodo .
Options :
Food items

[ZFe 7o) ém'q;e_:::

1. %
Manufactured products
S5rd DS adde
2.
Fuel and power
sogdo pbcko FE
3. %

None of these

D =%



Question Number : 64 Question Id : 5471144564 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Non-Banking Financial Company (NBFC) 1s a company registered under which
act?
s -w080h prRuhd ol (NBFC) o058 & Sio (@od $Trgs Lonl?
Options :
RBI Act 1934
«8. 9.0 zﬁ%o, 1934

1. %
Companies Act, 1956
Zode $&0, 1956

2.
NBFC Act 1956
I3.8.95.3 $Qo, 1956

3. %
Government Securities Regulations, 1913
@ﬁqﬁ:é; ?ofqgﬂém Qoodden, 1913

4. %

Question Number : 65 Question Id : 5471144565 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which agency regulates and supervises NBFCs?
NBFC e & 528) dcho(@inod Hbdin H858:5008.
Options :
Finance Ministry

@gﬁ o[BS T

SEBI
)



RBI
«5.9.0

RES])ECHVE state government

Honobs U‘L?é_ @cﬁ:éojo

Question Number : 66 Question Id : 5471144566 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is a function of the stock exchange?
&S 58 FE JTHof Tw¥) 0§?
Options :
Role of an economic barometer

©B% 3 vl

1. %
Valuation of securities
?\Jfavaaém SobBosy
2. %
Encouraging investments and savings
Depnihen HBak PHHed EEE)Erotto
3. %
All of the options are correct
©d) ¥B%D
4.9

Question Number : 67 Question Id : 5471144567 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many companies are parts of Sensex (Stock Exchange Sensitive Index)?
295 (5;5 é}é@oag 20)ES s0aE)) &° S8 ¥o2dexs Feiigoasrion?

Options :



100

Question Number : 68 Question Id : 5471144568 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was NIFTY (National Stock Exchange Fifty) established?
NIFTY (3588 %JE 5}3@0:5 ?p%) DLP %g‘é‘;aoézac%o&»‘?

Options :

1992

l. %

1998

2. %

1996
3.

1994

4. %

Question Number : 69 Question Id : 5471144569 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What 1s the main cause of the export surplus?
ANHE Wwihed (Heed stomo HHE?
Options :
The country’s stringent import policy

G0 ) XBXTS BIHHS Hr=o
1. %



Developments in national and international markets

a&ioh Sobok @oéq;écﬁa ma;gé* HBezeSoeen

The country’s exports promotion value

B¥o B¥) AHHe (HFeyTE Dend

None of these

D =5

Question Number : 70 Question Id : 5471144570 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If RBI reduces the cash reserve ratio, what will happen to the credit creation?
©5dm $K Dere VHBD 8N, BAT D8 O wbhibdos?
Options :
There will be no impact.

Qendod (HgrSo Botn

1. %
It will decrease.
éﬁgéaca

2. %

It will increase.
- ihEod

3.

None of these
=Y

4. %

Question Number : 71 Question Id : 5471144571 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Trade between two countries can be useful if cost ratios of goods are:
ShHo Kb AYdher sor @oll Both BT Y TBeyo BVTFHEEOrT Botnod.
Options :
Undetermined

@gmo{ﬁméﬁ:o? 508

1. %
Decreasing
Srp&oe ol

2. %

Equal
Srdore eod

3. %

Different
DSore S0&
4.9

Question Number : 72 Question Id : 5471144572 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dumping refers to:
Sool HEQ Lrdi0od :
Options :
Reducing tariffs

oz éﬁoécﬁo
1. %

Sale of goods abroad at a lower price, below their cost and price in their home
market

238 S0piE” $8 Yoll BT SHHed LD §8 eto
2.¢



Buying goods at low prices abroad and selling at higher prices locally

&'Jé%ﬂeifg’f S Pk ShHos E°0 Hdakw %&&om DS B o

Expensive goods selling for low prices

POBS ShHeh S5 $Bed eio

Question Number : 73 Question Id : 5471144573 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

International trade and domestic trade differ because of:
@Dét};@dﬁa @c%aeéo ZoBcin Bdah a*z%&éo D& =8worr DK orr Sodron.
Options :
Different government policies

DG (Db Demeen

1. %
Immobility of factors
8T Gnd) wdds

T g

2. %
Trade restrictions
Teedey; HBMEen

3. %
All of the options are correct
od) ¥B5D

4.9

Question Number : 74 Question Id : 5471144574 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to the Human Development Report. 2018, United Nations Development
Programme, which two countries have a higher life expectancy at birth than India?

S 0B VB6E-2018, BE I45§) BITHod EHrD @s=bo, (Bod &S
D Both Bren rE8EEE0 Kol QLSS difen wokvraho DA emmon?

Options :
Pakistan and Nepal.
FEFS DB IS

1. %
Pakistan and Bangladesh.
&5%5 8 DorTBS

2. %

Nepal and Bangladesh

Sard 5800 noress
3.¥

Srilanka and Myanmar.

S eoo¥ Hobaino Socha5
4. %

Question Number : 75 Question Id : 5471144575 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Why does Kerala have a low Infant Mortality Rate?
Z84E° 8% Hrdcre Téw JothH SENNT Bob?
Options :
Suitable climate.

odrodd Trersdno

Pollution Free environinent.

Sre0ay; Bers rorsdno



Good water.
Lod) &%

3. %

Adequate provision of basic health and educational facilities.

[B580% @8 58k doe; rhoe SRSoST wodoisEo
4.9

Question Number : 76 Question Id : 5471144576 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Human Development Index compares countries based on which of the following
levels of people?

S5 ©D56 S0% (Bod O Fow She ugrdore dTro Sfernod.
& [+ o —= st

Options :
Health status.
_ @ESSHS ?g&
1.¢
Per Capita Income.

SUN8 erdho

2. %
Educational level.
Qo row
2 @
3. %
All of the options are correct
©f) ¥B%D
4. %

Question Number : 77 Question Id : 5471144577 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The economist who formulated the big push theory was

DRIR ?am;oéa'méa ErErobodd @95 38

Options :



Arthur Lewis

w’d 895
&
1. %
Rosenstein Rodan
F2585 S5
2.
I J. Polak
2.3.8E
3. %
Ragnar Nukes
oS 265@'50
4. %

Question Number : 78 Question Id : 5471144578 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following was not a stage as stated by w. w. Rostow in his theory of
economic development
e, o, 653:} 5 @9?&%@ %m;oéoé’s SRod® @5‘35@% &% =086 267
Options :
Traditional society
FrolHorad Hoznsim
1. %
Pre — Traditional society
FrolHrch Do Sookd
2. %
High Mass consumption

©BE (HDHA@Diicin
3. %



Export promotion

Aihshde (Do
4.v

Question Number : 79 Question Id : 5471144579 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India disguised unemployment is predominant in
88 BEodh {;{Jiﬁt::,ié:‘;_ 3)&35551"\6:'9 odhlor afd
Options :

Service sector

ardoiism
1. %
Transport sector
SargeBonisn
2. %
Agriculture
ptlevilalatatavy
3.¢
Heavy Industries sector
8 HBEHe Soitsm
4. %

Question Number : 80 Question Id : 5471144580 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the second five-year plan Mahal Nobis adopted
BokS HodBy, (HerES e ST 080D S
Options :
Development of small-scale industries model

D BB @@&’g% S

1. &



A two — sector Development model

&ééoﬁ @i}%@ Sore

Hairod — Domar model

GEEE G508 $ome

3. %
Kaldor’s Growth - output Ratio model
et s - ad)g WG Sdore

4. %

Question Number : 81 Question Id : 5471144581 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If women are engaged in paid work, what difference does it make?
@w S508° %088 H0&° AR VERY B0, ©d D B 5@0&‘?
Options :

No difference.

o B
1. %
No dignity.
850 8
2. %
Their dignity in the household and society increases.
- 308 HBSH BSrmes® 8 TS0 EHE0s
3.¢
Their dignity in the household and society decreases.
20¢F $oBcsn dsreos® =8 FESo Sip&ob.
4. %

Question Number : 82 Question Id : 5471144582 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following statements defines “Literacy Rate’?
Bod =8S® 28 ‘©ETind Bew’ D G DRos.
Options :
Total literate population divided by the literate population.

ofodre BrerSt crhosnédS Swgo BZT LS.

1. %
Proportion of illiterate population in the 18 years and above age group.
18 %) 080 ©oE¥od DENS Sy Ko VEo e axryr 88
2.
It measures the proportion of literate proportion in the 7 years and above age
group.
7 Jod&yoren 0B wosod %S JovorSoy Kom8&® viobre D8
(=3 e, o) —t
3. %
A total literate population divided by the total population.
Sngo ofTdye amrg Iwgo ST rhotod.
4. %

Question Number : 83 Question Id : 5471144583 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The countries with a per capita income of US $955 (2017) or less are termed as

US $ 955 (2017) S 008%08 855 8088 vurcho EDAS BTred e Wi oerd.
Options :
Developing countries

@&Xg% Dot &R Dcen

Developed countries.

@@Kg% TobS Bzcen



Rich countries

éoéécl Szeen

3. %
Low Income countries.
éﬁ:@é eoech 3D
4.9

Question Number : 84 Question Id : 5471144584 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following criteria is the basis to measure the development of a
country according to UNDP?
UNDP (=80 3¥0 &%) ©DaR Foieit Eod BErrrod® D6 erdo?
Options :
Educational levels of the people.

(P Doer Frowen
v %%

1. %
Health status of the people.
(Hese @55?% 28

2. %
Per capita income.
S0 ewrdho

3. %
All the options are correct.
o) 838

4.¥

Question Number : 85 Question Id : 5471144585 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Chairman of Securities and Exchange Board of India is appointed by the

2EBES wof JEjof £°5 oF sobcir PEYSH B VALAE?



Options :

Ministry of Finance

©b¥ ho(Bd: T

L © >
Reserve Bank of India (RBI)

8asbs 2o ©d modaie

2. %

Stock Exchanges
£

c%};u aé@oée_n

3. %
Nomne of these
D=

4. %

Question Number : 86 Question Id : 5471144586 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The headquarters of the Securities and Exchange Board of India are in

?357@5@5 wo& a?:@ocg 5‘9§ ©5 20805 @Y (Xee soecho  &° wobd.
Options :

Mumbat

SooZd
Lv

New Delhi
Sl

Kolkata
S5t



Chennai

3R

4. %

Question Number : 87 Question Id : 5471144587 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the present Chairman of the Securities and Exchange Board of India?

&rB8T wof e oF 55 ©F molddr (B FES 258?

Options :
C B Bhave
2.9, 278

1. %

Ajay Tyagi

@e3cm =0
2.¢
U K Sinha
2.0
o
3. %
Nomne of these
=D
4. %

Question Number : 88 Question Id : 5471144588 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Securities and Exchange Board of India meets the needs of
?oﬁ:t;&é:ﬁ ©of JT)of &8 «f soldir _ edldoof &&ikos.
Options :
Investors

?:J@um&m‘&ma
1. %



Market intermediaries

Soe0)eT SogrStaen

2. %
Issuers of securities
Bl w=Borden

3. % o
All of the options are correct
o) $B¥D

4.9

Question Number : 89 Question Id : 5471144589 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not true about Marxian Socialism?
S8 chS Dm0 D80 Bod TEE° DO Jao =°H?

Options :

Capital is a theft

DePE VBV 2.8 &8

State will wither away

B0 T¥do eHHod

State promotes interests of all

G¥0 ©oid [HRramel (B8 kob

State sides with the rich and not the poor

ado P¥Hoe Do HBM W FH L

Question Number : 90 Question Id : 5471144590 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is defined as the study of individual units in an economy?
Bod &S® 58 ©8% aﬁéé*gé% e crdy erchiorr Addotindod?
Options :
Microeconomics

ol o w
%) @gu Q0

1. %
Macroeconomic
Sre wb¥ Ko

, @ o

2. ¢
Income and employment theory
SEeCHo B aad ?om;oéo

3. %
None of these
=P

4. %

Question Number : 91 Question Id : 5471144591 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What were the reasons for introducing the ecanomic reforms in 19917

1991 &° ©8% S0 Bre @’JE%’EJ%@EJE Ko o=¥cren D&&?

=

Options :

The Gulf war

5y doio

Q

1. %

The negative balance of payments

3DoHe [Hatre B
2. %

Increase in fiscal deficit

(3% Sen SIS

3. %



All of the options are correct
PSS INEY
4.9 @b‘l =

Question Number : 92 Question Id : 5471144592 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Many products from small-scale industries were ___ after the industrial sector was
deregulated in 1991.
1991&° 8|°¥ Boifo DaholEnd SFohodd So=d OF) 855 HoEHe Lol o3k

e )Een
Options :
De-reserved

E,—&asgé DoHna8D

1.V

Reserved

5&5; G foveraat )

2. %

De-reserved and Reserved are correct

&-Baebr DabbKD b Bael TahnER Botir $PEYD
3. %

De-reserved and Reserved are incorrect

&—&aagé FH0B8D Hobd%w 53&5& D088 Boe S0P
4. %

Question Number : 93 Question Id : 5471144593 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not an objective of rural development?

Dées® D8 Lpf'ﬁberﬁa’:ej% e sotH?

Options :



To improve wages for the urban population
e e Admren odihHsSto
1V
To work on removing unemployment in rural areas

(e oz VGHETR) Sofototd HR Sohiso

To enhance the living standards of rural people

(dor (Haeo £58 (Horered DoBohd Syt Soho

To improve wages for the rural population

(o amrgrd Sdmren EIDIEEE0

4. %

Question Number : 94 Question Id : 5471144594 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

As per centres 2011, the state with the lowest female literary rate is
2011 axzrode [Ho=dsw, @ Sle{e St 5&3@01‘? e SbeEy
Options :
Rajasthan

Lo roxT )
@

1. ¢

Madya Pradesh
So5SBE

Uttar Pradesh
a8



Bihar
Ao s)

Question Number : 95 Question Id : 5471144595 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The world Trade organisation came into force from
(B0t s Hop eHend s ¥
Options :
1 Jan 1995
v 1 %358 1995
1 April 1995
1 dPchS 1995
2. %
1 Oct 1995
1 oE % 1995

1 Dec 1995
1 &ood 1995

4. %

Question Number : 96 Question Id : 5471144596 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 1967 — 68 Green Revolution in India relates to the crops of
1967-68 % DosEBos’ =bAY 88 PHHn B (Bod HobredH VomoFEnodd
Options :
Wheat and Jowar

P 0Bk &%)

JI



Wheat and Red grow
P SoBckn XoBDadp

2. %

Paddy and wheat

egEn o8k AP
3.

Paddy and pulses

g0 080k SHpoBoen
4. %

Question Number : 97 Question Id : 5471144597 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India largest amount of domestic savings are contributed by
FESBE0S® BoaH BRI DB DErE RS
Options :
Public sector

[3he& Soifsn

1. %
Household sector
@a”?‘géoﬁm

2.
Corporate sector
TS“M\fSeEESoﬁa’m

3. %
Cooperative sector
SFotesalalolat ey

4. %

Question Number : 98 Question Id : 5471144598 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In terms of geographical area of the country Andhra Pradesh ranks among states

FREDE Seri8 Somofod), BEoEtY ©f) w@a’.\wmﬁs so(B(HBE l%;ﬁéw

Options :
Fifth largest
elatln]

1. %

Sixth largest

L858
2. %
Eighth largest
IS Tt T
3.
Tenth largest
L Slatalal

Question Number : 99 Question Id : 5471144599 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The district with highest literacy in Andhra Pradesh as per 2011 causes 1s

2011 ey B ([Boe8in S (Bod RS O B ©FHE ofoEd KDAAWK.
Options :
West Godavari
HBy% A8

1LV
Visakhapatnam
DTpdeno

2. %
Krishna

Bag



East Godavari
éavéaajﬁsma’aﬁ

4. %

Question Number : 100 Question Id : 5471144600 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

As per 2011 census, the sex ratio in Andhra Pradesh is

2011 sy Be (Hs°85m, wo@BaS &° Dok 8L)8

Options :
350

1. %

, 997
2.¥

3 1007

1050



